Sk SR el B
S - PR hF
1A%V
, o # =
& ] b il i s AL
Rl %
TAT 7 A T
2 e #k 2
(Eﬁﬁ%%l) T BJ: e E I m 10
T B K & T HEI T X T ) 10
RC-40 t=12cm m
J: E (=] ﬁ% I *ﬁ%}%fﬁyg 2 10
1. 4m A M-30 t=10cm m
3 ] T MR E 7 A = ) 0
1. Am A (20)  t=5cm m
x ] T FRBRE T A o ) 0
1. Am A (13)  t=5cm m
X e Kk 2
Rt T) TREEL m o
3 i T FEE IS ) 10
RC-40 t=10cm m
* Ji& T BRI T A2 ) 10
1. 4mBL 3. 0mEL T (13)  t=3cm m
. S OB % OE T 2 9
(B4 T) R 4 m
% T LR . 9
1. 4mBl 3. 0mEL F M-30 t=15cm m
* Ji& T BRI A2 ) 9
1. 4mBL 3. 0mEL F (13)  t=bcm m




= Fehe

=]
4 R g =1 7 BT =%
TAT 7V A T
(BEEEET)
R d& E T TRLAHAES R 9. m” 10
T g % T
WAY T v % T LRC-40 A=9.9 9. m? 10

t=12cm
g Ko T
BLARAEAM-30 A=9.9 9. m? 10
t=10cm 1. 4mARJj
*x 0B LT
FEAE AR 7 % = o (20) A=9.9 9. m? 10
t=5cm 1. 4m7Rji
* B L
FAE R T 2 2y (13) A=9.9 9. m? 10
t=bcm 1. 4mATig
(B EHHEET)
N e #& IE T TRLEHAESR 40. m? 40
i T
WA S 5 v s 4 T LRC-10 A =40.2 40. m? 40
t=10cm

= B L

A =40.2 40. m?> 40

FERRIEE T A =22 (13)
t=3cm 1. 4mPA E3. OmPA T




=)

4 R 1 HAL | % =
(L T0)
K e #& E T TrRertREESR 8.7 | m? 9
2SN S
KLFEAM-30 A=8.7 8.7 | m? 9
t=15cm 1.4mPL E3. OmPL T
* B L

A=8.7 8.7 | m? 9

FHAEBRIE T A 21 (13)
t=5cm 1. 4mPL 3. OomPL




